
Product manual
Gebrauchsanweisung 
Manuel du produit
Manual del producto 
Manuale del prodotto

N657P201544
N657P201549

Importeur Decobus Handel GmbH

Adresse Innungsstraße 9, 21244 Buchholz, Deutschland

URL https://www.decobusgroup.de

Hersteller         

Adress

FUJIAN NEWMARK TRADING GROUP.

e      

Email/UR

4/F,LIPPO TIANMA PLAZA, 1 WUYI NORTH RD,FUZHOU

L

E

rose@naturalhouse-cn.com 

C   REP
      

      
Decobus Handel GmbH
Innungsstraße 9, 21244 Buchholz, Deutschland
https://www.decobusgroup.de



 

 

 

 

 

 

 

 

 

 

- 2 -



- 3 -



- 4 -



- 5 -



x4

x2

x2

1

2

3

4

5

6

7

7

8

9

10

10

11

12

13

14

15

15 16

6



Layer bracket x 8

U

Back plate buckle x 8

V

3*14mm Screw x 8

W

Door stop x 1

X

Cam Bolt x 8 Cam lock x 8 6*30mm Dowel x 28 4*40mm Screw x 25

3.5*14mm Screw x 74 Hold hands x 4 Doorstop x 8

4*14mm Screw x 8 Plastic shaft x 8 Plastic tipper rack x 4

Perforated paste x 18 Hinge x 2 Foot pad x 4

4*35mm Screw x 2

T

Plastic fastener x 8

K

P

Screwdriver x 1

Plastic tipper rack x 4

R

Lock wall x 2

Q

Expansion screw x 2

S

NM

LJI

C DBA

G HFE

O

Bouncer x 1

PULL UP

I II

OR

III

7

Schraubendreher können in Phillips- und Schlitzschraubendreher umgewandelt werden



800 x 235 x 15 mm

1

1

770 x 234 x 15mm

1

5

1455 x 234 x 15 mm

1

2

1455 x 234 x 15 mm

1

3

770 x 45 x 15 mm

1

6

1395 x 234 x 15 mm

1

4

233 x 190 x 12 mm

1

9

1405 x 242 x 2.5 mm

1

11

1390 x 228 x 14 mm

1

12

N657P201544W

8



522 x 75 x 15 mm

2

7

522 x 75 x 15 mm

1

8

232 x 190 x 12 mm

2

10

517 x 340 x 15 mm

2

13

517 x 340 x 15 mm

2

14

510 x 138 x 12 mm

8

15

510 x 80 x 12 mm

4

16

9

N657P201549W



Doorstop x 4

G

180°

3.5*14mm Screw x 6 Plastic shaft x 4

J HE

E*4

E*2

X

C

C

D
D

D
D

C

D
D

J

G

J

J

G

G

J

G
J

G

H

Bouncer x 1

4

4

6*30mm Dowel x 3 4*40mm Screw x 6

C D

7

7

8

4

Step 1
Schritt 1

Step 2
Schritt 2

10

Door stop x 1

X



C

C

D

A

5

5

Cam Bolt x 1

6*30mm Dowel x 2 4*40mm Screw x 1

C D

6

Step 3
Schritt 3

Step 4
Schritt 4

11



C

C

C

C

C

C

B

D

D

D

D

2

5

9

Cam lock x 1

B

6*30mm Dowel x 6 4*40mm Screw x 4

C D

7

4

Doorstop x 4

G

Plastic shaft x 4

J

Step 5
Schritt 5

Step 6
Schritt 6

12

J

J

G

G

J

G

J

G

J

G



2

3

5

6*30mm Dowel x 9 4*40mm Screw x 14

C D

8

7 9

11

Foot pad x 4

O

Step 7
Schritt 7

Step 8
Schritt 8

13

C

C

C

C

C

C

C

C

C

D

O

O

O

O

D

DD

DD

D

D

D

DD

D

D

D



1

1

2

Cam Bolt x 7

Cam lock x 7

B

6*30mm Dowel x 8

C

A

Step 9
Schritt 9

Step 10
Schritt 10

14

B

B
B

B

B

B

B

C

C

C

C

C

C

C

C

A

A

A

A

A

A

A



x213

x213

x214

x214

3.5*14mm Screw x 24 Plastic tipper rack x 4 Plastic tipper rack x 4

RLE

3.5*14mm Screw x 24 Hold hands x 4

FE

15

16 15

16

Step 11
Schritt 11

Step 12
Schritt 12

15

EE

E
E

E

E

L

R

EE

E

E

E

E

E E
E

F

E

E

E

E E
E

F

E

E

E

L

R



13

14

3.5*14mm Screw x 8

E

Plastic fastener x 8

K
13

14

4*14mm Screw x 8

I

15

15

15

15

Step 13
Schritt 13

Step 14
Schritt 14

16

K

K

I

I

K

K

I

I

K

K

I

I

K

K

I

I

E

E

E

E

E

E

E

E



12

12

3.5*14mm Screw x 4 Hinge x 2

NE

3.5*14mm Screw x 8

E

Step 15
Schritt 15

Step 16
Schritt 16

17

E*2

N

E*2

E*2

E*4

E*4
E*4

N

N



10

Layer bracket x 8

U

10

Back plate buckle x 8

V

3*14mm Screw x 8

W

Step 17
Schritt 17

Step 18
Schritt 18

18

U*4

U*4

WV



4*35mm Screw x 2

T

Lock wall x 2

Q

Expansion screw x 2

S

Step 19
Schritt 19

19

Q

Q

S

T



Perforated paste x 18

M

Step 20
Schritt 20

20

M
M

M
M

M
M

M
M

M

M
M

M
M

M
M

M
M

M



12

Step 21
Schritt 21

Step 22
Schritt 22

21

Press here to open the door      
Drücken Sie hier, um die Tür zu öffnen 

Remove the protective film from 
the mirror before using. 
  
Entfernen Sie vor der Verwendung 
die Schutzfolie vom Spiegel


